20224E8 A28H

TREBSHER KikBRAXEHRHE—ER

[8BF]

TEH | ot G Fi3E HEARE 5L SE6hL
K4 B ek |fEl K4 e i B K4 B gk |fif K4 Prs e B K4 iy gk | M K4 B ek |fiEE

S50MHAHE |/MAEFE |8k B Fvyva=4F! 03816
50MHHE /M@y |A+ERK (Fvva=4% 03095 FiE KE Fvva=g£i 03118 K BE Huva=g%i 03304 INFR BDER MHvva=%l 0:34.00 SH WA Hvia=%! 03508 hill & iFvia=gi 03598
50MHE M | PE #HE HFyra=%! 02937 WA % Avva=%i  0:33.96
50MHEHE |EK B BHE Fyba=gi 02592 £ & Fyvaz=gl 02611 Hif R Fvva=%l 02633 HF BIE Fvia=%! 02659 =iE M Auba=gl 02692 A #  Fyia=%] 02695
50MHE M |—#% i . Fvuia=gi 02636
SOMYHKE /NAHEFE B B (¥Fvyva=F: 05219
SOMMYKE |/MFmE B BEX (Fyva=F&i 04140 INFR DER A= 04779 FEk BFE Huiaz=gl 04849
S50MYHKE | Hh: Bl FRAl Hvia=Z%i 0:3256 PE W Hvaz=gl 03771
SOMYEUKE | @ik FHK BE HvuiaZ=F:  03186xeu|{REE B Yvia=FK: 03418 ER/NIFREM HFyoa=%! 03446 =18 M Huyva=%i 03515 B E& Hvraz=% 03537 o g8 Fuva=%i 04161
S5OMIRE | —fik EARRS (Fyba=%i 04517
SOMUKE |/NAHEAR
S50MEKE /NFEmiE |A+ERK Fyva=F: 03587 RHF KE Fuda=g%l 04095 SH WA Hula=%! 04316
S50MEKE | g =i & (Fvia=%D 03419 BN B Fyva=%: 03513
S5OMTFIKE |t o g8 Fvraz=%i 03243
S50MERE | —fik
50M Y7 Z [/ NFEARFAR
S50M/ANZTZUNEmmTFAE [BiE B2 Fvyia=%. 03332 il 8 Huva=%i 0:39.14
50M/E T T | it Tk BH Hyra=gi 03025 WA =% 4via=%£i 03885
50M/AE 7 Z| @ik Bl B Hvyia=%K:  0:2655 &k E  Hyba=%: 02696 HF GBI Hvia=%:  0:28.04 A #  Fyia=%: 02872 AMH B Hvra=%K: 02887
50M/F 77— %
200MH AAN V= | /NFARSPAR
200ME ANV |/ NEESEE | B BER Hyia=%! 25483 RF KE Fvia=gi 30815 INBE A HubaZ=g&l 311240
200M{EAARY— | Hh 2 Bol PRl HviaZ=gi 2:2059xe#% R B (Xvia=gi 2:3445 B B HAula=gi 23519 BiE &k Fuva=%] 23950
200MAE AN V= | EiHE B BHE Hviaz=gl 217.09xs#|EK BE O Avia=gl 21796xxew |G RE Fuyia=gD 22463
200M{EAANV— | — % EA B O Fvia=% 2:14.34 k&%




202248 A 28H TREBSHER KikBRAXEHRHE—ER [%F]

TEH | ot G Fi3E HEARE 5L SE6hL
K4 B i B K4 e i B K4 B i B K4 Prs e B K4 iy i (B K4 B ek |fiEE
S50MHEHE |/NERF4E [hE BE Fyba=FKi  0:32.18xem[iRAFERTF Fyba=%! 0:33.26 B kEF Hvvaz=%i 03517 EW OEXR Hvia=%! 03526 Hoh £ Hvva=%: 03710
S50MHHE /NMEmE [hE BE Fvia=g&l 03164 Kl BF Hyva=g%i 03314 WA FHE Fura=gi 0:3450 Hh £ ¥via=%i 03522 B8 F #yvaz=% 03535 f EF Fvia=%D 03799
50MHE M | EE F=F Hyra=gl 02979 FNRFAT Fvra=%! 03030 At #E Hvyia=%i 03033 INR DE Fvva=gl 03052 =BH Mt Hvra=%! 03124 Wigy EH Fvvaz=%: 0:33.02
50MHEHE |EK BA DE Fuyba=%l 02972 ABH EB Huya=%! 03033

50MHEHE | %

SOMIKE  |/NHEFA

S50M¥pKE |/NEETFE | K BF Fyba

11
R

0:45.95 A fEF Fyia= 0:48.12 B & Hvia= 0:53.72

A
w

S50MEpkE |Fig FINKFR Fva=% 0:40.46 AR HER Hvia=g 0:41.74 Ll RSP Hvia=% 0:47.66

50M Pk E

S50MPRE | i EH FF Fuia=gl 0:36.71

S5O0MEUKE |/NMPIRTFAE |EE KEF Fvia=%&! 04376 B £ Fyia= 0:44.84

A

S50MEKRE /NFEFE |hE BE Fyiaz=% 0:39.02 WA FiE Fvia=% 0:43.28

50MEUKE | H AR R Hvia=g£: 03464

S50MTFIKE | mER

S50MEUKE | —fi%

SOMANY T ZUNERFAE [IRFAFERF Fvia=%  03491xew|hE WE Hyla=%!  0:36.00x2#%|EH FEk Hvia=F 04162

S50MAFTZ/INFEFAE [HAR ER Hvia=%:  0:36.46 BEE T Hyva=g! 04234

50M/ Y7 Z | Hig R F=F Hvia=gi 0:32.61 INE BB Huia=gl 0:34.09 Hrh #hF Hyiaz=%! 03415 BF Mt Huraz=g£i 03421 Hrh BE Hvyia=%! 03437
S50M/SX T | &k AH EK Huiaz=g 0:32.65

50M/F 77— %

200ME AANL— | /NFAR AR

200MfE AANL— | /N2 2 AR

200M{H ANV | Hr 52 B HF Fylaz=%: 25108

200M{E ANV | T BA D Hyiaz=% 2:38.59

200M{E A ANV — | — %




